BURKDHOKEERUEREEI-OFERBER (FH14 FETIE)

(BfI:mg 1)

1. NOEEROFREICEETSED (BEREE)

18 BIHE K & % B3 BT H = Rt = ERE1T ERIG2
HARIIVLRVZDEEY 0.03 <0.003 | <0.003 | <0.003 | <0.003 = <0.003  <0.003
T EEY 1 <0.1 <0. 1 <0.1 <0. 1 <0.1 <0.1
L1 PP A= 1 <0. 1 <0.1 <0.1 <0.1 <0. 1 <0. 1
R UZFDIEEY 0.1 <0.005 | <0.005  <0.005 | <0.005  <0.005 @ <0.005
NE O LEEY) 0.5 <0. 05 <0. 05 <0. 05 <0. 05 <0.05 <0.05
EEZRVZEDILEY 0.1 <0.005 | <0.005  <0.005 | <0.005  <0.005 @ <0.005
2K4R 0.005 <0.0005 <0.0005 <0.0005 @ <0.0005 = <0.0005  <0.0005
TILFILKERESY |[REINAVLCE| <0.0005 | <0.0005 = <0.0005 @ <0.0005 = <0.0005  <0.0005
PCB 0.003 <0.0005 <0.0005 <0.0005 @ <0.0005 @ <0.0005  <0.0005
cJ)oOOIFL Y 0.1 <0.071 <0.071 <0.071 <0.071 <0.071 <0.071
FrSoOOIFL Y 0.1 <0. 01 <0. 01 <0. 01 <0.01 <0.071 <0.071
ToOOxXy 0.2 <0. 02 <0. 02 <0.02 <0. 02 <0. 02 <0.02
migfbiksE 0.02 <0.002 = <0.002 = <0.002 = <0.002 = <0.002 = <0.002
1,2-900I%9 Y 0.04 <0.004 | <0.004  <0.004 @ <0.004 = <0.004  <0.004
1,1-Uo00ITFL 2 1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
YZ-1,2-yo0O0IFL 0.4 <0. 04 <0. 04 <0. 04 <0. 04 <0.04 <0.04
1,1,1-cJ20O00IT%2 3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3
1,1,2-~)oO00IxTd 0. 06 <0.006 | <0.006  <0.006 | <0.006  <0.006 = <0.006
1,3-vooo07aory 0.02 <0.002 = <0.002 = <0.002 = <0.002 = <0.002  <0.002
%rj 5 0. 06 <0.006 | <0.006  <0.006 | <0.006  <0.006 = <0.006
Y 0.03 <0.003 = <0.003 = <0.003 @ <0.003 = <0.003  <0.003
%#/\ JhILT 0.2 <0. 02 <0. 02 <0.02 <0. 02 <0. 02 <0.02
RIBY 0.1 <0. 01 <0. 01 <0. 01 <0.071 <0.071 <0.071
L U RUZEDIEEY 0.1 <0.005 | <0.005  <0.005 | <0.005  <0.005 @ <0.005
= o N sa)11(10) 0.3 - <0.1 0.3 <0. 1 -
< N N AN (8 <0.8 - <0.8 <0.8 <0.8 -
SORRUTDIEE |y (15) - <0.8 - - - <0.8
LA-IFFH 0.5 <0. 05 <0. 05 <0. 05 <0.05 <0.05 <0. 05
g?ﬂ:A% X 100 6.8 10 9.6 8.4 8.1 9.7
A H%2 U8 (pg-TEQ/L) 10 - 0. 00043 - 0.00088  0.0023 | 0.00034
X O TUEZTHZERIC0AEFZUZED., BHEEBEERZERUVHEBEZRZRDSEE
2. EEREBEOFR2ICEATDIED (£EFREEH) (BfI:mg./L)
H gk B EBs HE BHE R/ E2EE 2EE2
oH /Il 5.8~8.6 7.1 - 6.8 7.0 7.0 -
st 5.0~9.0 - 6.9 - - - 7.0
SS 100(70) 2 <1 <1 2 <] 2
BOD 30(20) 1.9 1.9 <1.0 1.6 <1.0 1.3
COD 160(120) 8.5 7.2 7.5 8.7 6.4 7.7
KISEEE (18, cn’) (31 000) 10 12 7 29 24 25
ANFH i %%@sm g |« 4 4 4 4 4
JI/—)EEE= 5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
HEaEE 3 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
HREE=E 2 <0.05 0.05 <0. 05 <0. 05 <0. 05 <0. 05
2HESEE 10 <0. 05 <0. 05 <0. 05 0.08 <0.05 0.07
Y UHUEEE 10 0.08 <0. 05 <0. 05 0.08 0.06 0.05
VO0LEE=E 2 <0. 05 <0. 05 <0.05 <0. 05 <0. 05 <0. 05
2EHR 120(60) 8.0 12 11 10 9.4 11
2YA 16(8) 0.48 1.2 0.13 0.18 0.16 0.25




